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O
	 June, 2010

ELECTIVE COURSE : ECONOMICS

EEC-07 : INDUSTRIAL DEVELOPMENT
IN INDIA

Time : 3 hours	 Maximum Marks : 100
(Weightage 70%)

Note : Attempt questions from each section as per instructions
given under each section.

SECTION - A

Answer any two questions from this section in about
500 words each. Each question carries 20 marks. 2x20=40

What is Herfindahl Index ? How is N-firm
concentration ratio measured ? Also briefly discuss
the causes of concentration of industries in India.

Discuss the concept of optimum firm. State the

factors that influence the size of a firm.

How does foreign trade help in rapid

industrialisation of an economy ?

Name the regional factors in Weber's theory of
industrial location. Distinguish between
agglomerative and deglomerative factors. What
are the assumptions made in Weber's theory ?
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SECTION - B

Answer any four questions from this section in about
250 words each.	 4x12=48

Do you believe that market forces can be relied
upon to ensure good corporate governance ? Give
reasons in support of your argument.

What are the main determinants of wages ?
Analyse briefly the trends in industrial wages in

India over the last fifty years.

What do you understand by privatisation ? Why
is it needed ? Identify the problems in the process
of privatisation in India.

Differentiate between debt and equity. How does
a company raise equity.

Examine the role of foreign direct investment in

the development of industrial sector of India.

What do you understand by barriers to entry ?
Discuss different categories of barriers to entry in
a monopolistic market.
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SECTION - C

Answer any two questions from this section in about
100 words each.	 2x6=12

What are the indicators of globalisation ? Discuss
briefly.

Why is there a need for a system of industrial

classification ?

13. Differentiate between :

Strikes and Lock-outs

Restructuring and Liquidation

14. "Industrial Policy, 1991, does not have an exit
policy". Discuss briefly.
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